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/A=65%/4=45°
/N -2

/N =180°—(65°+45°) =70°




/A=38%/A4-2
/N -2
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/A=/4=38%(6dén ide intidaiee
dadliadddd ilidi  oddodiéliie éa)
/C =180°—(38°+38°) =104°




/A =98°
/A=
/N -2

C
/A= /C(6aeh ide  iniidaiee
04Giiadadd iiigi  oddcaisiite éa)
/A=/C=(180°-98%):2 =41°




AA =23di :
AN =124 ;
C AN = 3,641

AN < AA+ AN
3,6d1 <2,3a1 +1,2d1
3,6d1 <3,5d1 (lddadii )=

O 7 AN Ase e A ~ 7 N\ O~ \ A7 O N\

= odaodiéliie é za __nouanoaoao




B ZN =90°
/A4 =30°
AN = 437
AA -7

C

AC = %AB — AB=2A4AC =8,6c1




B /N =90°
/A4 =30°
AB = 2271
AC -7

C

ACzlAB:>AC=22:2:11ﬁi
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B ZN =90°
AB =307
AC =154
/B-7?

C

AC=%AB:>ZB=30°




